
Owner of the EPD: POLFLAM Sp. z o.o.

Issued: 24.01.2025

Valid until: 24.01.2030

ENVIRONMENTAL PRODUCT DECLARATION

POLFLAM GAIA LOW-CARBON
FIRE-RESISTANT GLASS



PROGRAMME INFORMATION 3

MANUFACTURER AND PRODUCT DESCRIPTION 4-7

POLFLAM EI GAIA AND POLFLAM EW GAIA 8

POLFLAM BR GAIA AND POLFLAM FR GAIA 9

LCA: CALCULATION RULES 10

LCA: SCENERIOS AND ADDITIONAL TECHNICAL DATA 11

LCA: RESULTS 12

POLFLAM EI, EW, FR GAIA (16-20 mm) 14-15

POLFLAM EI, EW, FR GAIA (21-55 mm) 16-17

POLFLAM BR GAIA (30-50 mm) 18-19

LITERATURE 20

TABLE OF CONTENTS



3

PROGRAMME INFORMATION

Owner of the EPD:
POLFLAM Sp. z o.o.

Products covered by the EPD:
Fire-resistant glass POLFLAM
EI, EW, FR GAIA 16-20 mm;
EI, EW, FR GAIA 21-55 mm;
BR GAIA 30-50 mm.

Programme owner:

Materials

Owner of the EPD:
POLFLAM Sp. z o.o.

Date of issuance: Declared unit:
1 m2

EPD valid until: Scope:

Product Category Rules (PCR):
-

Representativeness:

Reference Service Life (RSL): 30 years

Reasons for performing LCA: B2B

Life cycle Analysis (LCA):  

to the interested parties.



MANUFACTURER AND PRODUCT DESCRIPTION

 

• 

• 

 
 

 

 

• Fire-resistant glass EW GAIA

• Fire-resistant glass EI GAIA

• Fire-resistant glass BR GAIA

• Fire-resistant glass FR GAIA

Table 1 Indicative composition of the products covered by the declaration

Material Mass fraction [%]

Glass

Sealants 2-6

2-6

 

 
-

 
 



5

MANUFACTURER AND PRODUCT DESCRIPTION



6

MANUFACTURER AND PRODUCT DESCRIPTION

The production plant of



MANUFACTURER AND PRODUCT DESCRIPTION

•

•



POLFLAM EI GAIA AND POLFLAM EW GAIA

 

POLFLAM GAIA EI 15 EI 30 EI 60 EI 90 EI 120 EI 180

Nominal thickness [mm] 16 20 25 32 35 35 55

Thickness tolerance [mm] ± 2 ± 2 ± 2 ± 2 ± 3 ± 3 ± 3 ± 3 ± 3

Weight [kg/m²] 33 52

Fire resistance EI 15 EI 30 EI 60 EI 60 EI 120 EI 120

v
 [%]

Total solar energy
transmittance g [%]

66

Thermal properties U
g

[W/m²K]
3.3 3.3 3.0

Sound reduction index R  
(C; C

tr
) [dB]

Pendulum body impact 
resistance

Max. temperature range

Curved glass yes

POLFLAM GAIA EW 30 EW 60 EW 90 EW 120

Nominal thickness [mm] 16 20 16 20 16 20 16 20

Thickness tolerance [mm] ± 2 ± 2 ± 2 ± 2 ± 2 ± 2 ± 2 ± 2

Weight [kg/m²] 33 33 33 33

Fire resistance EW 30 EW 30 EW 60 EW 60 EW 120 EW 120

v
 [%]

Total solar energy
transmittance g [%]

Thermal properties U
g

[W/m²K]

Sound reduction index R  
(C; C

tr
) [dB]

Pendulum body impact 
resistance

Max. temperature range

Curved glass yes



POLFLAM BR GAIA AND POLFLAM FR GAIA

POLFLAM GAIA EI 30 EI 60 EI 90 EI 120

Nominal thickness [mm] 30 35 50

Thickness tolerance [mm] ± 2 ± 3 ± 3 ± 3 ± 3

Weight [kg/m²] 65

Fire resistance EI 30 EI 60 EI 60 EI 120

v
 [%]

Total solar energy transmittance g [%] 66

Thermal properties U
g
 [W/m²K]

Sound reduction index R  (C; C
tr

) [dB]

Pendulum body impact resistance

Max. temperature range

Curved glass yes

POLFLAM FR GAIA EI 30 EI 60 EI 90 EI 120 EI 180

Nominal thickness [mm] 20 25 35 35 55

Thickness tolerance [mm] ± 2 ± 3 ± 3 ± 3 ± 3

Weight [kg/m²]

Fire resistance EI 30 EI 60 EI 120

v
 [%]

Total solar energy transmittance g [%] 66

Thermal properties U
g
 [W/m²K] 3.3

Sound reduction index R  (C; C
tr

) [dB]

Pendulum body impact resistance

Max. temperature range

Curved glass yes

 
 



10

LCA: CALCULATION RULES

System limitations

Data collection period

Declared unit 1 m2 

Assumptions A1  

A2

A3
2 x

, SO
2

A4

C1 -

C2

C3 -

C4

D -

General data -

2
, SO

2 2
 

2

Allocation

2. The allocation rules used in this EPD are based on the 



11

LCA: SCENERIOS AND ADDITIONAL TECHNICAL DATA

Module A4 – transport to the construction site
 

 

Module C1 – Disassembly/demolition
 

-

Module C2 – Transport  
 

•  

• 

•  

 
 

Module C4 – Waste management

Module D – Material reuse potential  



12

LCA: RESULTS

SYSTEM BOUNDARIES

Tr
an

sp
o

rt

Tr
an

sp
o

rt

R
ep

ai
r

O
pe

ra
ti

o
n

al
 

O
pe

ra
ti

o
n

al
 

Tr
an

sp
o

rt

D
is

p
o

sa
l

A1 A2 A3 A5 B1 B2 B3 B5 B6 D

X X X X X X X X X



13

LCA: RESULTS

GWP-total  

GWP-fossil  

GWP-biogenic 

GWP-luluc

ODP 

AP

EP-freshwater 

EP-marine

EP-terrestial 

POCP 

ADP-minerals&metals

ADP-fossil

WDP  

PERE  

PERM

PERT 

PEN-RE 

RE

PENRT

SM

RSF

NRSF

FW



POLFLAM EI, EW, FR GAIA (16-20 mm)

MAIN IMPACT INDICATORS: 1 m2

Life Cycle Stage

Indicator Unit A4 C1 C2 C3 C4 D

kg CO
2
 eq. 5,50E+01 0,00E+00

2 6,65E-02 2,02E-02

2

2 6,23E-02 2,21E-05 3,23E-06

ODP 1,60E-06

AP

2,63E-05 -2,20E-05

3,33E-05 2,66E-03 -1,06E-03

2,01E-03

POCP 2,60E-01 1,33E-03

 
& metals

MJ

WDP
3

5,60E-01

INDICATORS DESCRIBING RESOURCE CONSUMPTION: 1 m2

Life Cycle Stage

Indicator Unit A4 C1 C2 C3 C4 D

PERE MJ 1,61E-02 2,00E-02

PERM MJ

PERT MJ 1,61E-02 2,00E-02

MJ

RE MJ

PENRT MJ

SM

RSF MJ

NRSF MJ

FW m3



15

POLFLAM EI, EW, FR GAIA (16-20 mm)

INDICATORS DESCRIBING RESOURCE CONSUMPTION: 1 m2

Life Cycle Stage

Indicator
Unit

(expressed 
per DU)

A4 C1 C2 C3 C4 D

Components  

Materials  
for recycling

1,16E-01

Materials  
for energy recovery

Exported energy

CARBON ORGANIC

org

org



16

MAIN IMPACT INDICATORS: 1 m2

Life Cycle Stage

Indicator Unit A4 C1 C2 C3 C4 D

kg CO
2
 eq. 6,26E+01 0,00E+00

2 6,65E-02 1,65E-02

2

2 2,21E-05 2,63E-06

ODP 6,16E-10

AP 5,31E-03

3,02E-02

3,33E-05 2,21E-03

POCP 1,11E-03 -3,00E-03

 
& metals

1,06E-06

MJ

WDP
3

INDICATORS DESCRIBING RESOURCE CONSUMPTION: 1 m2

Life Cycle Stage

Indicator Unit A4 C1 C2 C3 C4 D

PERE MJ 1,61E-02 2,12E-02

PERM MJ

PERT MJ 1,61E-02 2,12E-02

MJ

RE MJ

PENRT MJ

SM

RSF MJ

NRSF MJ

FW m3 5,16E-05

POLFLAM EI, EW, FR GAIA (21-55 mm)



INDICATORS DESCRIBING RESOURCE CONSUMPTION: 1 m2

Life Cycle Stage

Indicator
Unit

(expressed 
per DU)

A4 C1 C2 C3 C4 D

Components  

Materials  
for recycling

1,16E-01

Materials  
for energy recovery

Exported energy

CARBON ORGANIC

org

org

POLFLAM EI, EW, FR GAIA (21-55 mm)



POLFLAM BR GAIA (30-50 mm)

MAIN IMPACT INDICATORS: 1 m2 POLFLAM BR GAIA (30-50 mm)

Life Cycle Stage

Indicator Unit A4 C1 C2 C3 C4 D

kg CO
2
 eq. 8,95E+01 0,00E+00 1,90E+00

2 6,65E-02

2 2,12E-03

2 2,21E-05

ODP 5,66E-06

AP

-5,13E-05

3,13E-01 3,33E-05

2,15E-03

POCP 3,00E-03

 
& metals

1,26E-06

MJ

WDP
3

6,66E-02

INDICATORS DESCRIBING RESOURCE CONSUMPTION: 1 m2 POLFLAM BR GAIA (30-50 mm)

Life Cycle Stage

Indicator Unit A4 C1 C2 C3 C4 D

PERE MJ 1,61E-02 5,22E-02 -2,10E-01

PERM MJ

PERT MJ 1,61E-02 5,22E-02 -2,10E-01

MJ

RE MJ

PENRT MJ

SM

RSF MJ

NRSF MJ

FW m3



POLFLAM BR GAIA (30-50 mm)

INDICATORS DESCRIBING RESOURCE CONSUMPTION: 1 m2 POLFLAM BR GAIA (30-50 mm)

Life Cycle Stage

Indicator
Unit

(expressed 
per DU)

A4 C1 C2 C3 C4 D

Components  

Materials  
for recycling

2,33E-01

Materials  
for energy recovery

Exported energy

CARBON ORGANIC

org

org
1,15E-01



20

LITERATURE

LITERATURE

• ICIMB-PCR A. General Product Category Rules for Construction Products.

• PN-EN ISO 14025:2014-04, Environmental labels and declarations -- Type III environmental declarations -- Rules and procedures.

• PN-EN 15804+A2:2020, Sustainability of building structures -- Environmental product declarations -Basic principles  
of categorization of construction products.

• PN-EN ISO 14040:2009 Environmental management. Life Cycle Assessment. Principles and structure.

• PN-EN ISO 14044:2009, Environmental management. Life Cycle Assessment. Requirements and guidelines.

• EN 15942:2012, Sustainability of construction works – Environmental product declarations – Communication format  
business-to-business.

• PN-EN ISO 12543-4:2022-05, Glass in construction — Laminated glass and safety laminated glass — Part 4: Durability  
test methods.

•  
and mechanical properties.

• KOBiZE CO2, SO2, NOx, CO and total particulate matter emission factors for electricity, December 2023.

• M. Asif, A. Davidson, T.Muneer, Mlmech: LIFE CYCLE OF WINDOW MATERIALS - A COMPARATIVE ASSESSMENTFICBSE  
Millennium Fellow School of Engineering , Napier University, 10 Colinton Road, Edinburgh EH10 5DT, U.K.

• Asif, M., Muneer, T. and Kubie, J, „Sustainability analysis of window frames”, Building Services Engineering Research  
and Technology. 2005, vol. 26, no. 1, pp. 71-87.

• Weir, G. and Muneer, T., „Energy and environmental impact analysis of double-glazed windows”, Energy Conversion  
and Management 1998, vol. 39, no. 3-4, pp. 243-256.

• Heinz Stichnothe1,2 and Adisa Azapagic1 Life cycle assessment of recycling PVC window frames Resources Conservation  
and Recycling · February 2013 DOI: 10.1016/j.resconrec.2012.12.005



POLFLAM Sp. z o.o.

 

WINDOWS  
AND DOORS

FLOORSFACADES  
AND ROOFS

PARTITIONS SMOKE  
BARRIERS


